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Digno es el Sefior

Ap. 512

1.Dig - no es Dig-no es el Se-
2.Gran-de es Gran-de es el Se-
3.San-to es San-to es el Se-
4.Cris-to es Cris-to es el Se-
5.Dig-no es Gran-de es el Se-
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1.Dig-no esel Se —fior.
2.Gran-de es el Se -fior.
3.San-to esel Se -fior.
4.Cris-to es el Se -fior.
5.Dig-no es el Se ~fior.
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fior. Dig-no es El, Dig-noes el Se
fior. Gran-de es El, Grandees el Se
fior. San-to es El, San-toes el Se
fior. Cris-to es El, Cris-to_es el Se
fior. San - to es El Cris-to_es el Se
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Dig-noes el Se - fior Dig-noes el Se - fior.
Gran-de_es el Se - for. Gran-de_es el Se - fior.
San - to_es el Se - for. el Se - ifior.
Cris-to_es el Se - fior. el Se - ior.
San - to_es el Se - fior. el Se - ifior.
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